
EXAMEN DE MATEMÁTICAS. GRUPO: L1B. 18/1/2010
ALUMNO/A: Nº:

PREGUNTA 1.- Resuelve: 

4 3 2x 3x 13x 9x 30− − + = −

PREGUNTA 2.- Resuelve por el Método de Gauss:

a) 

2x y z 0
x y 2z 5
x y z 3

+ − =
− + =
+ + =

b) 

x 2y 3z 5
2x 3y z 3
4x y 5z 13

+ − =
− + =

+ − =

PREGUNTA 3.- Resuelve:

2x 2 5 2x 1
5 3
x 2 2x 3 3
3 4 4

− −+ <

+ −− ≥

PREGUNTA 4.- Resuelve:

( ) ( )x 1 x 1 x 5
2 3 6

− +
+ <

PREGUNTA 5.- Resuelve:

2 x 1
x 4

− <
+

PREGUNTA 6.- Resuelve:

a) 
x 0
y 0

≥
≥

b) 
2x 3y 3
x y 11

− ≥ −
+ ≥

6x 5y 30
x 2y 8

+ <
+ <

 x 2≤

Calificaciones: 
PREGUNTA PUNTUACIÓN

1 1 punto
2 a) 1 punto; b) 1 punto
3 1,5 puntos
4 1,5 puntos
5 1,5 puntos
6 a) 1,25 puntos; b) 1,25 puntos
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